Question Answer Marks | AO | Guidance
10 (a) 3 0nn0 o 3.4 5 M1 | 3.1a | Use of double angle formula
I—Zsm 20—1—2(2sm900s9) Allow 1 error
=1-3sin’Hcos’ @
(Siﬂz 0+COSZ 0)3 — Sin() 6+COS6 9+3S1n4 QCOSZ 9+3S1n2 HCOS4 0 Ml 3.la Use Ofglven I’esult Wlth Sln al’ld COS
Both sides seen but might not be equated
sin®@+cos’ O =1 —(3 sin* @ cos® @ + 3sin” O cos* 9) M1 | 2.2a | Useof sin’@+cos’ 0 =1
sin® @+ cos® @ =1-3sin” O cos’ 9(5in2 0 + cos’ 49) El 2.1 | Convincing completion
=1-3sin’*Hcos’* O
So LHS = RHS as required
[4]
10 (b) l—é%sin2 20 has min value when sin?20=1 oe Ml L1
. . Al 2.2
Min value is % a % unsupported does not score
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